

Rural Municipality of West River Resolution

Title: 2-Billion Trees 2024 – Vendors

Motion Carried	Motion No	2024-57
Motion Lost	Date	June 27, 2024
Motion Withdrawn	Council Meeting No	2024-16
Moved by Councillor Steve Pollard		
Seconded by Deputy Mayor Shaun MacArthur		

WHEREAS

According to Motion 2024-48 the Municipality has authorized the CAO to enter into an agreement to participate in the PEI 2-Billion Trees Planting Program, and

WHEREAS

The Committee reviewed the received quotes and the scope of work according to Policy# 2022-03, also including the history of the vendor services, and

WHEREAS

This resolution bears the recommendation of the Committee of the Whole as discussed at a meeting held on June 13, 2024,

BE IT RESOLVED
The Council for the Rural Municipality of West River accepts the proposal of materials from Arbor Nursery Ltd. (Appendix A, attached hereto, forming a part of this resolution) for \$21,700.00 plus HST and authorizes the CAO to execute it.
BE IT FURTHER RESOLVED
The Council for the Rural Municipality of West River accepts the proposal of labour from SAVLands Inc. (Appendix B, attached hereto, forming a part of this resolution) for \$10,336.00 plus HST and authorizes the CAO to execute it.
I certify that this is a true copy of the resolution.



Helen Smith-MacPhail

Susan Morse

Mayor _____ Interim Chief Administrative Officer _____

Appendix A

Arbor Nursery Ltd

115 Penn Point Road

Vemon Bridge PE C0A 2E0
(902)-651-3020
jan@arbomursery.ca
www.arbomursery.ca

GST/HST Registration No.: 806941340 Business Number 806941340 RT 0001



Estimate

ADDRESS Robert Crawfort

ESTIMATE DATE 1034 28/05/2024

DATE		DESCRIPTION	TAX	QTY	RATE	AMOUNT
28/05/2024	7 Gallon	Serviceberry	HST PE 2016	5	105.00	525.00
28/05/2024	20 Gallon	Red Maple	HST PE 2016	5	200.00	1,000.00
28/05/2024	20 Gallon	Red Oak	HST PE 2016	25	200.00	5,000.00
28/05/2024	20 Gallon	Sugar Maple	HST PE 2016	10	208.00	2,080.00
28/05/2024	5 Foot White Pine	White Pine	HST PE 2016	5	120.00	600.00
28/05/2024	6 Foot Spruce	White Spruce	HST PE 2016	5	160.00	800.00
28/05/2024	15 Gallon	Yellow Birch	HST PE 2016	5	105.00	525.00
11/06/2024	1 Gallon	Red Oak	HST PE 2016	80	18.00	1,440.00
11/06/2024	1 Gallon	Sugar Maple	HST PE 2016	50	18.00	900.00
11/06/2024	1 Gallon	Red Maple	HST PE 2016	40	18.00	720.00
11/06/2024	1 Gallon	Yellow Birch	HST PE 2016	40	22.50	900.00
11/06/2024	1 Gallon	White Birch	HST PE 2016	20	18.00	360.00
11/06/2024	1 Gallon	Ironwood	HST PE 2016	25	18.00	450.00
11/06/2024	1 Gallon	Hemlock	HST PE 2016	10	18.00	180.00
11/06/2024	1 Gallon	White Spruce	HST PE	25	18.00	450.00

Page 1 of 2



Appendix A Continued

			2016			
11/06/2024	1 Gallon	Red Spruce	HST PE 2016	40	18.00	720.00
11/06/2024	1 Gallon	White Pine	HST PE 2016	25	18.00	450.00
11/06/2024	25 Gallon	White Birch	HST PE 2016	5	180.00	900.00
11/06/2024	25 Gallon	Red Spruce	HST PE 2016	5	160.00	800.00
11/06/2024	15 Gallon	Silver Maple	HST PE 2016	5	200.00	1,000.00
11/06/2024	20 Gallon	Burr Oak	HST PE 2016	5	200.00	1,000.00
11/06/2024	10 Gallon	Wild Crab	HST PE 2016	5	180.00	900.00

SUBTOTAL 21,700.00 HST (PE) 2016 @ 15% 3,255.00

TOTAL \$24,955.00

Accepted By

Accepted Date

Page 2 of 2



Appendix B

SAVLands Inc.
149 Macquarrie road
Brackley Beach PE C1E 2Z8
savlandsinc@gmail.com
GST/HST Registration No.:
773972211RT0001

ADDRESS

Attn Cody MacDonald Rural Municipality of West River Estimate 1011

DATE 11/06/2024

ACTIVITY	DESCRIPTION	TAX	QTY	RATE	AMOUNT
Approx 85 trees to be planted, quote per tree	Pick-up trees, planting, staking, and mulching trees as per Nursery's instructions. Includes materials & labour such as compost, stakes, ties, trunk guard and mulch.	HST PE 2016	85	121.60	10,336.00

2 Billion Tree Program Quotation for planting Nursery Supplied trees fall 2024

SUBTOTAL

10,336.00

HST (PE) 2016 @ 15%

1,550.40

TOTAL

\$11,886.40

Accepted By

Accepted Date

etransfer to: savlandsinc@gmail.com

